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Exercise 7:
Consider the problem

min —2x; — 2o
s.t. Ty — Ty <2
ry + 22 <6
r1, T9 >0

(a) Convert the problem into standard form and construct a basic feasible solution at which

(x1,22) = (0,0).

(b) Carry out the full tableau implementation of the simplex method, starting with the
basic feasible solution of part (a). Use Bland’s rule to determine the pivot element.

(c) Draw a graphical representation of the problem in terms of the original variables x,
2o and indicate the path taken by the simplex algorithm.



